MLt

DEGREE LEVEL MAINS
SUB INSPECTOR OF POLICE
2023

23-08-2023




158/23 - M

1.

Find out the statement/statements not correct regarding the formation of Linguistic
States in India.
i. Andhra and Tamil Nadu came into existence in 1953 as Linguistic States on the

recommendation of the States Reorganisation Commission.

ii. In 1953, The States Reorganisation Commission was appointed with Justice Fazl Ali,
K. M. Panikkar and Hridayanath Kunzru as members.

iii. The States Reorganisation Act passed in 1956 provided for 14 States and 6 Centrally
administered territories.

iv. The Linguistic Provinces Commission headed by Dr. 8. K. Dar appointed in 1948
advised against formation of Linguistic Staies.

A) iandiv B) ii only C) i, iii and iv D} ionly
Identify the correctly matched facts below.
i. Congress Socialist Party — Jayaprakash Narayanan — 1934.
ii. Forward Block — Subhash Chandra Bose — 1939.
iii. Punjab Nau Jawan Bharat Sabha — Bhagat Singh — 1926.
iv. Communist Party of india — M. N. Roy — 1920. ’
A) i and iii only B} All of the above
C) i, jiiand iv D) None of the above
Match the following.

i. Sadhujana dootan  ,a. K. P. Vallon

il. Harijan b. C. Krishnan

iii. Mitavadi ¢. Vakkom Maulavi

iv. Al-Islam d. Pampadi John Joseph
A)i—d,ii—a,iii—b,iv-c B i—-b,ii—d,iii—a,iv-c
C)i-c¢,ii—a,ili~d,iv—>b D) i-~d,ii—a,iii—c,iv=-Db

Which among the following coneust exclusively the names of cities to host forthcoming
G-20 Summit ?
i. Kurmarakom, Cochin, Kozhikode, Thiruvananthapuram.
ii. Kolkata, Mumbai, Kumarakom, Cochin.
iii. Kumarakom, Kozhikode, Trichy, Goa.
iv. Pune, Goa, Cochin, Trichy.
A) iandii B) iii only C) i,iiand iv Dj) ii only

Consider the following and identify the false statement.

1. Pampas are grasslands in Argentina. .

2. Sirocco causes blood rain in italy. -

3. Bushmen are found in Siberia.

A) Only 1 B) 1and 2 ~C)1,2and 3 D) Only 3
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. DM @OaHD ALMNIMETRELeS Balleaemnuimon snIMWeQ]S CAIWLRIOES (IO,
(EIRICUMETD HHEENBET L.

i, VOMOIM alyMEroeaISMmo Gafflatexd vo)e 0BG LoJcB:O(bo 1953-a? @inv@)o anm'l@mosg,o
@062a10MO MomAdMaEade] alelad aiomy.

ii. 1953-ad 2gilav anoavad @rell, 6. agio. alamlend, «ojemold c@:&ﬂ%[fmé agyemlcuasedie
MOROM AlIMEMCARISMO dhoilnten rlwailal).

iii. 1956-@) c1o0voesll@ qvomom alymamonaism mlame 14 MomNOMEBBEHLe B Bamm
BOEM [IBRUWEBWDEO e OS] OlyaLTN 612195 16nE.

iv. 1948-@ dlwalensg]g @b, gy, 6. BOGIOM EN®MIEHIRIES E0aHD (IaNwd
&omflax0d @2au2SIMAIMETRNES MUomMNIXMEBW@ ddaftddlenimalnmainn Haleaudlal).
A) iand iv B) ii only C) i, iii and iv D) ionly

. 06 6050815 880100d @l gaib)oalsSlealeim CLRIBEW Sldlolclwids..
. BH0eNBIRmMY @LOaH LM a 10BG] — 8Wald0ur Morowsemad — 1934

ii. @anodeaiuy 6eRj0HE) — @Y almEesrIOmy — 1939

iH. clemioeni’ M ggalod @oam mue — ene) miloud — 1926

V. @omyemigy a10dg] 8oad’ My — egio. af)id. 800w - 1920

A) iand iii only B) aysel@ aiosmmaewg)oo

C) i, iiiand iv D) myeglad croesmod aomymg)
. @OOPQ|OW M B2l®oalSIEalBeeibs.

I coouwem aymd 2. 6. all. usegs

ii. aO@leed . ovl. dsyatiemad

ii. cleaod C. Qidno eI

V. ®oad-gnquooe d. alomiog] 32206rd GRIMan

*A) i—dii—a,ii—b,iv-c B) i—b,ii—dli-a,iv-c

C)i=-c, ii—a,iii—~d iv->b D) i—d,ii—a,iii—c,iv—-Db

. @26y @mMidlenymaiie airomidlenion G-20 ©olesosless @paienemo ladlenyam
MNRETBIOS GBI M@0 HROBHIBRIMO! a@moem 7
I doidddho, b0, BHOFlER60S, @laimimalido
ii. ORI, DYOOOETL, EIMOEH0, BRIl
iil. @m0, @:0¥e090S, 1Slafl, sron
V. aljem, emoc, e, ©Elall
A) iandii B} iii only C) i,iiandiv D) ii only

. BOYR]OWIMA aldleriie] O®RIW lquoaim GlEleiClwys.

1. ardge@melen aly@ens a6 almidhd. .

2. Mile00ssn0 MHRLQiad AEMOYWIEMBOLNLIM].

3. eemeniidloxolad snizeyodd &06mMealsSiom;.

A) Only 1 B) 1and2 . C)1,2and 3 D) Only 3
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6. Which of the following is an open source GIS software ?

10.

11.

1. QGIS
2. Arc GIS
3. SAGA
4. Map info

A) Only 1 B) 1and3 C) 1,3and 4 D) Only 3,

Choose the correct statement/s.

i. Doldrums are in Equatorial low Pressure Belt.

o Blind valieys are associated with Aeolian topography.

3. River Brahmaputhra rises from Chemayungdung Gilacier.

4. lsoneph are used to show the spatial distribution of cloud cover.

A) Only 1 : B) 1and2

C) 1,3and 4 D) 2and 3

Kunthippuzha drains th rough

A) Silent valley B) Peppara

C) Aralam D) Agasthyakoodam

The term Input Tax Credit is aslsociated with

A) Value Added Tax B) Goods and Service Tax
C) Income Tax | D) Corporate Tax

What is shoonya campaign of NITI AAYOG 7

1. Zero pollution e-mobility campaign.

5 Consumer awareness campaign to reduce air poliution.
3. It promotes the use of electronic vehicles.

Select the correct answer.

A) 1,2and 3 B) 1and 3

C)2and 3 . D) 2 only

What is E-Amrit famous for ?

1. It sensitizes consumers on the use of electric vehicles.
2 ltis a collaborative knowledge exchange programme with the US government.
3. |t aims to accelerate decarbonization.

Select the correct answer.
A) 1,2and 3 B) 1and3- C) 2and 3 D) 1and2
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@oaé@dwg,ﬂnmmﬂmﬁ a@oeT ) 80 arooty GIS emuoadipaiwd ?
1. QGIS '

- 2. Arc GIS

w0

10

11.

3. SAGA
4. Map info
A) Only 1 B) 1and3 C)1,3and4 D) Only 3

@AWW {IRICUM/(aIPICIMNER ODOEETINSIEE) 4.

1. e0d|eQoTIm@d GaID lalaud eenl@dglrioam LGB,

2. BOMWOOR ELFOIRHD af)eoallwd GYald i mons aumwee|Sleleniom).

3. uamallie 0dl ealp@eianeds adlmomiedd mlornoen’ pmea ey

4. @yl SaIClng midelauywd allmviglen jgeuad &06mlenam eagiemoamad
DIGOIBETT].

A) Only 1 B) 1and2 C) 1,3and 4 D} 2and 3
GBla 2P B9Y:)0NE
"A} eevaldd cuoell B) @algjoor
C) eoogo _ D) ®omnmyeso
; - gntha 135 S0y AIEAIE af)aM aldo 0@ eninee]Slaleaniany.
A) ogeiyouduile alase B) a10se¢ srvaim mleal
C) ®oeow Ml ol _ D) esobaje0g aile:yoil

. agomosny (fiall @pewoulleng vogmy Homieiiad ?
1. adleno enloelyeudd ar-amomlafg] omiwiod.
2. epmmdley aelofike:nemo dio@iIMTIMISR HalBRIGMY @DNIEGELIOW BomIwiad.
3. sl neIei0eMles LoaNMETBEISS HalEROwo Blaldadallallenimy.
NBQOW HEBRC SOOETIHSIHE 4.
A) 1,2and 3 B) 1Tand 3 C) 2and 3 D) 2 only

60-@OMYE ag)CBIN (alalavmoend ?
1. 0@ s0LERIE AUCADMETRAIOS P IGRINEEBHHI0IL] HalCBOMOLHNY
EENIOWOLTBIENBIBOHL0M.
2. e @y o)y, udEH0E00W Med@:dlaligs allmemom om0y aldlaloglaos.
3. Wleobmiaeememand® @|Clmeq|Siamomd M elew yalsiomy.

RTIWOIR HEBAC BOEETIHSIEE) ).
A) 1,2and 3 B} 1and3 C) 2and 3 D) tand2
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12. Which of the following is true with respect to Union Budget 20237
1. India’s economic growth is estimated at 9.2%. |
2. Government contributions will be provided for Sun rise areas like Artificial Intelligence, :
Green Energy, Geo-spatial systems and Drones. .
3. Introduction of Digital Rupee by RBI. i
4. Sovereign Green Bonds shall be issued for mobilizing resources for green infrastructure.
Select the correct answer.

A) 1,2and 4 B) 1and 3
C)2and3 D) All the above
13. The Constituent Assembly was constituted as per the provisions/directions of
A) The Objective Resoluiion, 1946 B) Cabinet Mission Plan, 1946
C) Government of India Act, 1935 D) Indian Independence Act, 1947

14. Consider these statements about Rajya Sabha and find out the correct
combination.
i. The Rajya Sabha is a partially elected body.
i. Provide representation to the States.
iii. Enjoys six year term.
iv. Vice President fs its ex-officio Chairman.
- A) ii and iv are correct , B) i, i and iv are correct
C) i, ii and iii are correct | D) All are correct

15. The Constitutional Amendment Act stopped the reservation of seats for Anglo-lndian
community in the Lok Sabha and State Legislative Assemblies.

A) 104t B) 103¢ C) 102 D) 101¢

.5 16. The members of the GST Council are

i. Prime Minister
ii. Union Finance Minister
iii. Union Minister of State for Finance
. Finance Ministers’of the State or the nominee

A) All the above B) i, ii and iv only
C) ii, iii and iv only D) i, iii and iv only

17. The writ issued against a public authority or an officer whose non-performance of
responsibility causes injury to someone
A) Habeas Corpus B) Mandamus
C) Prohibition _ : D) Certiorari
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@genflavad enuzeg 2023-em mosniquile] moaeq jOwemaeficd oqmoem ol 7

1. snomy@yes omIEHie 1adal 9.2% @l £eMmeeIHenLam].

2. (MYEEHGE EMaILIE:e0W Bdgladlan e sddealigzadm, WA agymided], edleqwd eaRad 4@
rdlgo, GLWIEME@ ngyIcLg MudEaI® MOBOAIM M@0, ’

3. RBI asgdgmd ool @oaimaioflenim).

4. (AR enBiandirpesaicimoe allen qumoenaem@EEInoe equoldid W ilad eenIoensim(d
alj06a]sioleanlo. -

REWOW HOMRC B EEEMTTIS LB IS

A) 1,2and 4 B) 1and3

C) 2and 3 ' D) ayesldd alosmmoawg]oo
BOEMAgISMO @MVo6R{l @gadle:@lo @ . O QYLD /MBS GUoEHRUD
@O LT 2,J06MT.

A) aenizglal eomealgeudd, 1946 B) aosnfing alaucd gjocd, 1946

C) waeen aoad eomy @y, 1935 D) eoomycd socdaslecidandm @ody, 1947

OB YVEOWSOLS 21188 0D (0 IRIAINBRD aldimermlenis@io RAWOW MVOEWIRMOo
EBIENBEID JHWI0 I},
i. ©0g)mE @UHlHa0R) GlOeSMNSIBNR|S B0} CRGOAINMOETS.
i, omNomEBREE leloeliaflw o MM . -
iii. @BO QIdUOE® HORIDQIUE BBIVIEBO LMY
iv. e wimlav@oen @male agesty’ adisait)e £21@BMmOM.
A) ii and iv agyorrlcu ceglaoem B) i, ii and iv agyorion wedleoen
C) i, il and iii agyomics vodl@oem’ D} aggoo traloem

BEBMBUIRI Yo MM HAOME eomoplelele Epego-eam qUEIEOW TN
i rueaimemo EBOEMERISMO BEAWNEI Mlwho WSET]. :

‘A) 104 B) 103 C) 102 D) 101

GST evedamiiellsel @rotssecd @’
1L awomaorsil
ii. @i Wwmal
i, BHIO3 WMDY MDAOAT
iv. quocnomemile woairsinod deageld emodliod
A) 03mel@ alOImOIOEI0 B) i, ii and iv only

‘C) ii, iii and iv only D) i, iii and iv only

17. &) Halomy Eoule:00 @Oeld 80} HERPNNMNNNG SOBOEEMo MIDQLSBOHOTBE}

myele BOFOEIRES aldlesn@aflenag]symeid agdion ajoagisiailal ols.
A) saoenfemy e:odgjms 'B) modavmm’
C) mlemowmo D) smdglewoodt
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18. Which of the following statement(s) is/are incorrect in connection to National
Commission for Scheduled Tribes (NCST) ?

i Constituted through the 89" Constitutional Amendment Act, 2003.

i The Chairman and Vice Chairman have been conferred the rank of Union Cabinet

Minister and Minister of State respectively.

iii. Empowered to investigate and monitor all matters relating to the safeguards provided

for the community.
A) iand ii only B) ii and iii only
C) All the above D) None of the above

19. The Central Sector Scheme launched in 2020 to provide the record of rights t0
village household owners possessing houses in inhabited rural areas in villages and
issuance of property cards to the property owners is
A) SVAMITVA B) Rashtriya Gram Swaraj Abhiyan

C) Gram Panchayat Development Plan D) e-Panchayat

20. Consider the following and identify the correct statement(s) about Kerala State
Industrial Development Corporation (KSIDC).

i. Premier agency Qf the State mandated to for industrial and investment promotion.

ii. The primary objective was to promote, facilitate and finance large and medium scale
industries. -

ii. The one-stop-shop for any investment in Kerala.

iv. Catalyze the development of physical and social infrastructure required for industrial

growth.
A) i, i and iii only B) i, iii and iv only
C) i, ii and iv only D) All the above

21. The new initiative associated with the ‘State Old Age Policy 2013’ (Kerala) to convert
all Panchayats into age friendly one for ensuring good health, participation and
assuring quality of life to senior citizens is
A) Vayo Amrutham * B} Vayomithram
C) Age Friendly Panchayat D) All the above

22. The network of effective Common Service Centers (CSC) envisioned to deliver a.
muliitude of G2C, G2B as well as B2C services 10 the public under a single roof in

Kerala
A} E-Governance B) e-Districts
C) Akshaya : D) FRIENDS
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SBUAlQY algld:udy orodflantmymon] (NCST) entnuents @0e9a o@iam (e RO mde:sild
agymoem emg ?
i. 2003-ee1 @asmeeism 89-0¢ geewal mMlwao a1d aja el oo,

ii. ®21@BBOMIe HOAUMS H2IVBROMIE WINOE:NO B3 @enlmg BB, oD agyrd
alalled® matal epedloflgiens

iif. smomyeniiglencell malelelgias quieemomolluomamrainoel MmIMLegS afjo ©:00BE 10
@pemjadloncmyo m’kﬂosﬁ'ﬂaeoomémggg @RUlE000.

A} iandiionly B) ii and iii only
C) mpedld alostmeme)oo D) ;yegldd atoammat somyogy

(00616l BMAUDMVBIEE (0D 16BUeIBEIT Ollsied enr-aitvo @i alleg)ed eormy
DSDRIAST BROLBINEBRIOS GOEU N@SIMEIM L0 QUTY) HSNEHREE GloI0q B BBWIED
@b ymalmymonsl 2020-a8 @rocEla) GH3ERRILID alab®il.

A) auoaia B) oodw woa mieoed @odiood
C) wonalsruo@@s allaaum alabei D} eo-aismiowes’ '

®IOPOWIMA al@lNem]Le)HWio 3608 sayy mdwgled savalale/magd
@0ajeoanem (KSIDC) #:0lalias vedlwow plqpocim{@:@) ool aicleye.wio
EELIIE

. Q130IM0@id, Mleesal laloanoanmeEBImond momnomedlam llalmd ageadda
mldeniawlmaowd.

i, bssls, ssemeo Q1NIMIVERSS GlaldEoas]qlBe)}d:, MINBAIEEIE:, UXTKIVANIWO
M@y af)NIlOIOQIRLM, taldlnalles Rl jo.
iii. so8mTen of@ Mledtal@Tmio af)d:E20eld: VD@ jo.

Iv. cugoaimoeie gdale EOImnow @IMld:0ijo Momiadld:N013n0W ERITRAdM
U DHOYEBRLOS Qlleaumo HEEmElg 1oy

A} i, ii and iii only B) i, iii and iv only
C} i, ii and iv only ‘D) agsel@d al0ammal agygjdo

DIEBOM alvnmodasT Mg BRERIM o, clB:ogleme, ale mlecnee 00RO gl
U] ag)RI0 o IERIOWATDYHORW 0 QUGWIRM MHVENIBMORE MOGIMEIMIBES TPomOdMm
uewogm Mo 2013 (emaso) 20wl eumweg|s o @l Meteso

A) clewo @ray®o B) cuswonli@o
C) cuswomm qumaniad alemiowdnn D} ayegldd aroemmemg)do

aNelalGa0W ¢H0asm mdallmy emv@oieales (CSC) emgudes, emeaamiad aanog
30@e6 eI ealomyzmensdss G2C, G2B wysoem B2C smvcimsmalo ag@meaodd

alleoaume e21Qm,. .
A} en-maaiemaday’ B) so-=lpiend

'C) anemw D) FRIENDS
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23.

24.

25.

26.

27.

28.

29.

30.

The Lok Ayukta and Upa Lok Ayukta are appointed as per the recommendations of
A) The Chief Minister and the Leader of Oppaosition

B) The Governor and the Chief Minister

C) The Chief Minister and the Chief Justice of the High Court

D} The Chief Minister, the Speaker of the Legislature and the Leader of opposmon

Match the following. ¢

i. IMPACT KERALA a. Company for asset creation

i. JNINURM b. Plan monitoring software
ii. KILA €. Sustainable Urban Infrastructure Service
iv. Sulekha d. Capacity building for local governance
A) i—~a,ii~c,ii-dandiv—-b B) i-hbii—g/ii-dandiv—a

C) i—-b,ii—d, ii—aandiv—c D) i—-bii—a,iii—-dandiv-c¢

Identify the group of States with two Lok Sabha seats each from the following.
A) Tripura, Arunachal Pradesh, Manipur and Goa

B) Manipur, Goa, Himachal Pradesh and Mizoram

C) Meghalaya, Tripura, Himachal Pradesh and Sikkim

- D) Mizoram, Nagaland, Manipur and Sikkim

Anti-pellagra Vitamin is

A) B, B) B, C) B, D} Vitamin C
Schwann cells are part of

A} Neuron B) Muscles

C) Alimentary canal D} Kidney

Which of the following disease is transmitted by an insect vector ?
A) AIDS - B} Tuberculosis  C) Malaria D} None of the above

The Greenhouse gases include
A) CH, B} CO, : C) NO, D} All the above

Which of the foltowing statement(s) is/are correct, relating to Parkinson’s disease,
which was recently in news ?

i. Is a degenerative disorder.
ii. s arespiratory disease.
ji. Results due to malfunctioning and death of nerve cells.
A) Onlyi B) Onlyii
C) Onlyiand iii D) All the above (i, ii and iii)
-10-
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23. GEDS:OWIHMOWW 0 Ho | BRIIGIWIBHOWD o M ElEe MG 6 Kol toBUDR
((1HO@MOETY.

A) ayeuynntilae el®lales eM®IOe

B) wademoe mpeuymmiayo

C) msuipimilwio 66e0e£00s@l aflad sgmilauie
‘D) myeuyaiad], rloomed Qflend, nidlale emmoas

*
24. @OO¥e|0O@YMNAI Eal@oals] 62 lboaim.

I §DMUOKE G808 a. g aujaileaniomaimias &l

i. JANURM b. gJomd emoemlgcilous’ enuoadoru@d

iil. KILA C. cvyradlo MK @RSIUDM TV TEDY GTVOMo
iv. mogeeie d. (1oecutle: coemarslimas eveadl (Ldavlafleais:
‘A) i—a,ii—c,iii—d,iv-Db B) i—-b,ii—c¢,iii~d,iv—-a

C) i—b,ii—d,ii—a,iv-c D) i-b,ii—a,ii—d,iv-c

25. @moeegjowmainiad allar aers’ deI0esTued Mgyt allmmes MomaomeBees e
@Al Ol .
A} @hol30, EROIEMI2IMIBEUT, MeMiayd, @wocy
B) memilalid, 6100, afdimooi@ielessd, aleaodse
C) smaeenei@, (@lal)®, aflmoai@dalecsd, mlesilo
D) alemonoe, momoelndbay, aemlayd, milesilo

26. @pddl eaigim allgodld emem

A) B, ‘B) B, C) B, D) aligodad C
27. a0 af@ SAVRISEIOS BIMAIENT ?

“A) Mmoo B) ¢alcdlendd

C) arelongd @amodd D) cuyes
28. oo omymMAUElal afd) GROMMIT @MYt (LY ol oM@ ?

A) agiauiay’ B) #siwo

C) meaidiw D) oyl aloemmal amymng

29. ouRl@d age®6P6) anElBMNIA0 UIBEEBET DUdeg syl ?
A) CH, ' B) CO,
C) NO, *D) oysldd alosmmaawgoo

L4

30. @usyETles OBEmEEM so emElw alddsesldaverdomy” almilmymoed] enirweq|s
DISPRIORRMN [ IRIUMEE] TS oR®IsN o] ?
i. 8y wlgmeodlal afleaodand aen.

ii. B0 URIOTVEEOUD BOOUIMIENS. .
il MOUSIEBOMETBRIOS MBI MAEMOILe BIRINIEN Mo Nen)amn@.
A) Onlyi B) Only i
*C) Only i andiii - D) oyeeldd asosmmauemg)ao (i, i and iii)
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31.

32.

33.

34.

35.

36.

37.

38.

39.

Which among the following is/are example for life style disease ?
i. Obesity '
ii. Type 2 diabetes

iii. Botulism
A) Only i : B) Onlyiand ii
C) Only i and iii D) All the above (i, ii and iii)

‘Snehapoorvam’ scheme envisages

A) To identify and support orphaned children in the community
B) To assist the care givers of disabled, bedridden patients

C) Financial assistance to the bedridden Endosulfan victims
D) None of the above

In a class test, 15 students got marks more than 50, 23 got marks less than 50 but
more than 10 and the remaining 12 students scored less than 10. What percentage
of students have got marks between 10 and 50 7

A) 30% B) 46% C) 24% D} 50%

The present ages of A, B, C are in the ratio 1: 2 : 3. Before 10 years, C was 50 years
old. How much will be the age of A after 10 years ?

A) 30 - B) 40 C) 50 D) 60

A tap fills a water tank in 2 hours. A leak at the bottom of the tank empties it in
3 hours. Both were opened for 1 hour after that the leak has closed. By how much
time will the tank fill ?

A) 3 hours 30 minutes B) 3 hours 40 minutes

C) 2 hours 30 minutes D) 2 hours 40 minutes

Which is the 10" two digit number that leaves a remainder 1 when divided by 5 ?
A) &1 B) 56 C) 51 D) 46

Distance between two places A and B is 100 km. A car travels from A to B covers the
first 40 km in an average speed of 60 km/hr and the rest of the journey in an average
speed 45 km/hr. What is the average speed of the car in the entire journey ?

A} 52.5 km/hr B) 60 km/hr C) 50 km/hr D) 55 km/hr
The missing term in the series “ABC, CZG, FWM, 7 is
A) JST B) JSO C) IUS D) HVL

What is the angle between the hour and minute hands of a clock showing the time
9.107 '
A) 140° B) 145° C) 150° D) 155°

-12-
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31. @oe9ejo@maleid egmoem glolemeevel geonmEmIn HEIa0reMo ? T
i. @pdloaemo J ey
ii. e0sef2 iemaso _ P
iii. senuogieflave O B
A) Only i 'B) Onlyiand ii h
C) Only ii and iii D) myeglad cioemmain@eloo (i, il and iii)

32. ‘saoalidqle’ alabl alleoaimoe e21gme!
A} @m semiglailen @pmoneow &Slees @ldlajcdleomioe n_ﬂcm(;emggomg,o |

B) allesenemd, sisqeflene eeonleegwie allomiemgono p

C) #lsqllen® ogibeanomvd@aenom a almsniowlmdes) Wmranowo o BT
PR

5

i

2

Ve
“

D) meelad 68083016160 m@lh aoniag SRS

L
2V

33. 80y Hoq aldlerQldl 15 6aldss’ 50-@8 dysio@d modes aidlaj. 23 ealdss’ 50-ab @oey
agymoad 10-@ @n)s10@ addes) eidlaly, eruossi 12 allepdmdledss 10-at moey modes
BIEla)). a)l® temadme allayodmoletdes 10-myo 50-mio swilad modes eiElaly ?

A) 30% - 'B) 46% C) 24% D) 50%

5 1
34. A, B, C agomilcueies e0ea0we@® @l1o®e 112 1 3 agym @rme omeslensn. 10 aideuwrsioy
aymi'C #6 50 cuquoeiegmy. 10 cubauamlmg euoatio A @IS 0 I0®o ag)®EOdlo ?
*A) 30 B) 40 C) 50 D) 60
.
{35‘ 80} S0a] 2 m6MlH6dee:06Ne ao) oz Somlad allowmmy. somsled aesleienes 6o} 6oloba)
7 3 namleayolmesicd @oe’ (aymimoseiamy. PeMEle B0y ReMienyd @OM GWato 8210Ba)
@S]} )i MOWo OdI6NE S8 MIOW Yo 7 i
A} 3 memleeyd 30 alailg B) 3 memleeyd 40 ooy TP
C) 2 msmlenyd 30 ooy D) 2 mémilesnd 40 clailg’

36. 5 06 a0aleanemuUod 1 euoaflenym10-0o06 @D ENBLE VoL af@O6N ? - b,

A) 61 *B) 56 C) 51 D) 46

((?' t A, B agyomdl eerg’ cunelemdd eoxllenes syeo 100 km @pem. A oymat B aieowies 8m) &od e 5
- aneyecm 40 km wadwd 60 km/hr scunemiiejo snoesioigs woim woowdl 45 km/hr &
sonmOee MeIdlesimy. AL womelene @Glam ool BOIN® agim@os ? "}-_;)'i

A) 52.5 km/hr B) 60 km/hr C) 50 km/hr D) 55 km/hr "
(3_8 “ABC, CZG, FWM, " af)0M o IOMIGRISRI SHIEMOBIW alBo af® ? Yy “":'A
" A) JST B) JSO C) IUS D) HVL 2L
39. mvawe 9.10 &oemlenym &y egosslon asnleniole almlglo molayes eederd O r'L// \
)OO’ ? /!}/;Tu. o
2 PR
A) 140° B} 145° » C) 150° D) 155° L_;\_
! 6T b . U
A e SURLAPY ";1-6 31 36, o a6, 51 56 . 3
R o ’ ’ Fo i~ 15 . 7 b,
/j - A ; ’i :'.”;- :{I'ff} ‘L “ ¢ . - 2 I) (“: f\ LT,L ,«»—i_
g é Eao 4 e 50 SeNw 52 ! N a2 v
“ & losd 5 12

A

f
i
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40." Which is the missing number in the series 6, 30, 20, 130, ?
A) 38 B) 40 C) 42 D) 222

41. Beginning from the point A, Raju walks 100 m towards east, then turns right and
- walks 50 m, again turns right and walks 50 m, then turns left and walks 50 m and
finally turns right and walks 50 m and stopped. How far is now Raju from A ?

A) 50 m B) 150 m C) 200m D) 100 m

42. Whatisthevalueof 25 +35+-7—-(45x2)+30x4?
A) 90 B) 50 C) -30 D) —-160

43. The right of private defence of property extends to the voluntary causing of death of
the wrong-doer, if the offence is

A} Robbery B} House-breaking by night
C) Theft D} All the above

44, Which of the following kind of hurt is designated as “grievous hurt” ?
A) Emasculation
B) Permanent privation of the sight of either eye
C) BothAand B
D) None of the above

45. A obstructs a path along which Z has a right to pass. A not believing in good faith -
that he has a right to stop the path. Z is thereby prevented from passing. A has
committed the offence of

A} Wrongful restraint B) Wrongful confinement
C) Wrongful confinement and restraint D) None of the above

46. .A obtains property from Z by saying - “Your child is in the hands of my gang, and will
" be put to death unless you send us ten thousand rupees”. A has committed the offence
of

A) Extortion B) Robbery €) Dacoity D} Theft

47. A man shall be guilty of the offence of sexual harassment under Section 354A of
Indian Penal Code, 18860, if he commits :

i. Physical contact and advances involving unwelcome and explicit sexual overiures.
ii. A demand or request for sexual favours. |
ii. Showing pornography against the will of a woman.
iv. Making sexually coloured remarks.
A) ionly B) Bothiandii C) i, ii and iii D) i, ii, iii and iv
A ~14- -
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@j‘; 6, 30, 20, 130, ag)M alOMUIOEASAI HIMOMOW MIUD ag®osm ? o
" A) 38 B) 40 C) 42 D) 222 ey

. A sa1o@ficfiad adlay mmo(ﬂg‘, ©0&} 100 m elvesnog msenyamy. st QlRieomEes
afidiersrsy 50 m msaenymy, allensie aueieerass) dldlens 50 M mseaimy, @ysdoy’ gsmmm
afdlemm 50 M msan’ asyaldd ceisemes slalsrm 50 m msarialldern?. A @l allory eoggy
NGO ag)® EREERIWIEN ?

A) 50 m B) 1560 m C) 200 m "D) 100 m

42. 25 + 35 + —7 — (45 x 2) + 30 x 4 o} o130 agiOmOeN 2
A) 90 ‘B) 50 C) - 30 D) - 160

43. avEEled 0oy GEROWEmIMIER GBI, HME HLIQIMWIRINS (YIEDEWWD
OEEMBTITY HS:30EMAIBYLTNE (U (FlGIMNIOUSSIED Bl o ? _
A) &nuda) B) oow@lo@d alls’ me:densd
C) saoaxemo ' "D} oyedldd alosmmalawejoo

44, @oevejOMAUWICE cg®osm’  1y0@@0w MSINT” gt Mlewoulleneg |Sldlenymnae ?
A) agmoapieelaHmd
B) ;o) H6pimaieswio £H05210y6s qudiead® Mago
‘C) A, B agyemilcu
D) oyedl@d atosmmal sscmg,mg;

45. Z-00 30} Bal000M @ROLIH0MMIER B0} ald®OW A MSIORSIEBIM. ald® OO
@iles’ @oausonmesnsa’ A allimileaomlg). Z @emyyl &SiMiGalddyM® ms®
easimy. A mloneicesimo Msemieisens. .

A) empow dlamsmo B) emgow mswad
C) empow msweljo dlwimemaljo D) meeldd aaoemmel amiag)

46. “mlemgles &gl agemd moesiEEiled ena-elenen, adlnoeioe agel dowollegssla
OE0gIOaSio” af)M alOemm a6 A, Z-ab alan’ quers emsyomg. A msemle dlwn
Blof@IMo ?

A) edosgwdiendd B) s01da) 6C) anesnoigh D) embanemo

47. &) aoiaud oo eaigoa 1860-ee1 soam i wiesoroaarsion 354 A aldg ] le:00mes
eeeloUilds allabm Bqowia) &iQeancemowficlengo.

i. wodi@le: rorudesnalle mfélaeaomémg‘;omm)ao (e QmO BRIt 8:0E (e 10ERR RS
MIGOMRSHBR.
il. eRIoUId: EDMIBRLIETBROOIWIES B0} MDA GoeEERIa) GoEYBMmAM.
iii. 80y (lwies oeyedin’ alloyaradef eoglel oflimansd eoemlengamy.
iv. setouile: TlonIes e eIBBUEIBIG MSETHLM).
A) ionly B) iandii C) i,iiandiii D) i, ii, i and iv

A -15-
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48,

49.

50.

51.

“Warrant-case” means
i. A case relating to an offence punishable with death.
ii. A case relating to an offence punishable with imprisonment for life.
ili. A case relating to an offence punishable with imprisonment for a term exceeding two

years.

iv. Case relating to an offence, and not being a summons case.
A) ionly B) iandii

C) i, ii and iii D) i, ii, iii and iv

The Executive Magistrate can require a person 1o show cause why he shouid not be
ordered to execute a bond with sureties for his good behaviour

A) if he habitually commits or attempts to commit, or abets the commission of,
the offence of kidnapping, abduction, extortion

B) if he habitually commits or attempts to commit, or abets the commission of,
the offence of cheating or mischief

C)-if he habitually commits or altempts to commit, or abets the commission of,
the offence of any offence punishable under Section 489A, Section 489B, Section 489C
or Section 489D of Indian Penal Code

D} All the above

Right of arrested person to meet an advocate of his choice during interrogation is
contained in '

A} Section 41 B) Section 41 A
C) Section41 C ' D) Section41 D

Any police officer may without an order from a Magistrate and without a warrant,
arrest any person, if he is satisfied that
I. such arrest is necessary to prevent the person from committing any further offence.
ii. such arrest is necessary for proper investigation of the offence.
iii. such arrest is necessary to prevent the person from causing the evidence of the
offence to disappear or tampering with such evidence in any manner.

iv. such arrest is necessary to prevent the person from making any inducement, threat
or promise to any person acquainted with the facts of the case so as to dissuade him
from disclosing such facts to the Court or to the police officer,

A) iand ii are correct B) iii and iv are correct
C) i, ii, iii and iv are correct D) None of these

-16-
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“UOOMR- BB ag)mod

i.
ii.
ii.
iv.

QUWUBlEE BIEIBSHOLLM EiIA0Q] MINLeQS GBI
glcualoymo ®SOUEleH RIElEHI0IZM dhiRmoef MIMLOR|S EB:TU.
®6ns QIBUBET@R ByS1OM BsOl e RIElenNIM ERMmOQ] MIMLeQS BT,

B0} BB IB0RN EIMDOQS EHTY, MAXRDTY G’ @R

A) ionly B) iandii C) i, iiandii D) i, ii, iii and iv

@06 alowymnaiad agigleyglal neflemdle’ ey alywolewos ®med Mg eaioimogeviad
220038600000 @enIoens msalleneanod gomacliseiemmaied sooemo

A) OLOBN6NBLENIINE, HEHISRISIHOT BISETEIR) BRI ITBED @RAIM alteiiow]

O2IQLMHEWD H2IQYOM Xl HDLHERIO BRGIM MANORABOLMHEWO H21YIEOOEM 1T

B) uemimwesew? ¢E0e0mflofew @iQe:y® e @oud alaliaiool 6o1Qeewd

O21Q0M (Bale)E:ewo @GN Man0@IlEs3BEWD 6.0 RO

C) soomyd vdlesto dlaesion amesd 489 A, emvexd 489 B, exrusexad 489 C eneg el

omesd 483 D ag)omial tnl1:000 GlestoRannoQ afe®sleljo & Qe i®io @O aud]
0OQ H.01QEHEWD §21QOM Uille e BREINT MaNVILHIMHEWD 6.21QOTD

D) oyeeldd aaosmmauawgioo

c210a)0 H21geules mmles’ Heynies @EIEcaHEM &M EROYUIRINW CIIBEIlweSs
@OCU:O000 @RSEREIRAGlEaLM (dhial '

A) aldga] 41 B) aisaf41 A C) cusaf41C D) cusai 41D

a0y aglendled somonlgoem®ic QIOMEIROmW e aRemQ) Ealoafluid:orme gl
9a 3008 B006E EROY H.21YDo.

@ QUYBO BSIOM @RS00 H21QOTAdlLHM @REmOe BROKY BRI

B 3OO0 ElQOW @REMIAUMEBIM @EMDR0 EOOMY @YU YRIEM.

BRI YOO HDEIL1YER BRI e N@OB: M@ Mlimio @RORIESIT epameslallo
allweslad @oemoc smelaw:dd mudla leeiomailad alimio tuisBlam mseRMEIN GREmOo
@O @B YR,

@OEMO0 UTPOH D eE0se@ileald caloallmn’ 9eERMMNEMIes) eruging|semiomaid
oo’ @ewoeg allawldieflenymalm), eomiled AIRIOBR albllLwnies age®esleiio

yeilos agermsslele slalosmewd dauenfleno QXQOMER MEemaiad oo mswomadiod

@OEHOO ERON] @D BOEI).

A) i, il vo@losm’ B) iii, iv codlaosm’

“C) i, i, dil, iv agorlal codlooeny D) socus@ocmyme
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52.

53.

54.

55,

56.

Which of the following statements is/are correct ?
A) Inguiry means every inquiry other than a trial conducted under the Code of Criminal

Procedure by a Magistrate or Court.

B) Inquiry includes all the proceedings under the Code of Criminal Procedure for the

collection of evidence conducted by a Magistrate.

C) Inquiry means every inguiry including a trial conducted under the Code of Criminal

Procedure by a Magistrate or Court.

D) All the above

Which of the following statements is/are correct with reference to Section 43 (a) of
the IT Act ?

Section 43 (a) creates liability for compensation in the case of access to a computer.
Section 43 (a) creates liability for compensation in case of securing access to a
computer. _

Section 43 (a) creates liability for compensation in case of damage to a computer.

iv. Section 43 (a) creates liability for compensation in case of disruption to a
computer.

A) Only i B) Onlyiandii

C) Only iii D) Only iii and iv

Electronic Serial Number (ESN) and System Identification Code (SIC) are covered
by the term “computer source code”.

A) True

B) False

C) Neither true nor false

D) None of the above

The words “dishonestly” and “fraudulently” are defined in

A) General Clauses Act, 1897

B} Information Technology Act, 2000

C) Indian Penal Code, 1860 D) None of the above

Choose the correct matcoh.

1. Section 66 B of IT Act a. Stolen Computer Resource
2. Section 66 C of IT Act b. Privacy

3. Section 66 D of IT Act c. ldentity Theft .

4. Section 66 E of IT Act d. Cheating by Personation

A)1-a,2-b,3-c,4~d
C)1-¢2-d,3-b,;4-a

B)1-2a2-c¢ 3-b,4~d
D) 1-a,2-¢,3-d,4-b
18-
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@OG)'?(HOGJ)&(TT) (oMl agmoe’ vl 7

A) @REMIHEMo ag)(MOER ag)Rlo BEMIaHEMOLje GRAMABILEYM]. 60} DlBRGEO (Bc:@:OS(EﬂGGDO
NS@DIM (@lAlmad MSaiSlalg (18000 MSEHYTN alla1opemeHHOMR.

B) ey aglepg msemmiom amglaiiend eunaidienimeinies @ilaimad msais] mgtmoeaomm@g
aggioo Msalsldglo GREMieneM@TEd HUBeGSIM3.

C) ey alapegd eoselews msemym (@IaElm@d msalslojgemiey SISl msEmIM
Qft21006m HRDOHLOSWISS ag)fyd @OEMIGHEM(LL0 BRBMIaHENDOETT.

D) 0ye:6l@d otoemmouaweido

iIT eoagion: amexm 43 (a) m1000d0@a] MOOPEOWHM llRocUmeglad ag@oen el ?
i, exueudd 43 () 80} HnlYSCIeRlHe a8 (IBOIRMETINNG ©:00)Orilad mngmdlaoommﬂ
MOWIES TLIOUWIE (LIl BNIOM).
ii. e 43 (&) B0} SMIRSTIEEIENISs IBRINME HOIBOYTD MadIBIETIM® Maleld]
QDOO@BIMIS SLOW YD OV JaYleaLM,. :
iil. evesad 43 (a) 60y HMURSAT EB:630.108)85 Mool MagalBlaOODBIIMISE EISWY®
o Jogfleoeg My
iv. e 43 (2) a0y SISO @sqyo emlzoM MagaldlenoEBY MW IS
rojogloeymy ‘ |
A) Only i B) Onlyiandii C) Only iii D) Only iii and iv

 sopig0eies mildlaxd mauoge (ESN) avigpe sagiaw@ladieanad eesoango (SIC) @:miusd

BV 8O " )M alBEWIEd HWEr|SIINL.

‘A) wdlwosm B) emgosm

C) wdlewo omago @og) D) aieeidd c0emmal eamymg)
V@MV, “QUERIMEWRS” ag)MFl 0B Md)alafdlenimae

A) 2000t egomqy @pd, 1897 ‘B) spanbemaudd esasemossd erd, 2000
C) spomy aflna? seoass, 1860 D) o3esldd aloamma sanimg)

RAWIR GROY BE6NBEDYE. © .

1. eag)s epgien amexd 66 B a. smoaylay &musd ooallse
2. oag)s! @pglan savexd 66 C b. mueo0y®

3. oag)d epaglesl eqvauad 66 D C. eagw@ldl eadauemo

4. eag)d) enggloel emoexd 66 E d. ayemslouEmont alermum
A}y1-a,2-b,3~-c,4-d B) 1-a,2-¢,3-b,4-d
C)1-¢2-d,3~-b,4-2a .‘D)1-a,2-¢,3—-d, 4-b
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57. “Access” means

58.

59.

60.

61.

62.

i. Gaining entry into a computer, computer system or computer network.

ii. Instructing the logical, arithmetical or memory function resources of a computer,
computer system or computer network.

iii. Communicating with the logical, arithmetical or memory function resources of a
computer, computer system or computer network.

iv. Disruption of any computer network.

A) All of the above B) Only i, ii and iii

C) Only iv D) Only ii and iii

Which of the propositions among the following is not correct ?

1. Right to Information is a Fundamental Right.

2. Right to Information is antithetical to Transparency and Accountability.

3. Information can exist in any form.

4. Right to information does not include information relating to any private body which
can be accessed by a public authority under any law in force.

A) Only 1 and 2 are not correct B) Only 3 is not correct

C) Only 3 and 4 are not correct D) Only 4 is not correct

“Right to Information Act, 2005 takes into account the interests of copyright of a
person other than the State.” The statement is

A) True B) False

C) Neither true nor false D) None of the above

Publi¢ Information Officer is required to make a decision under Section 9 of RTI Act,
2005 within
A) 30 days B) 40 days C) 50 days D) 60 days

Certification practice statement specifying the practices that the Certifying Authority
employs in issuing electronic signature certificates is issued by which of the following
entities ? .

A} Certifying Authority B) Central Government

C) Cyber Emergency Response Team D) National Informatics Centre

Any person, who on behalf of another person with respect to any particular electronic
record, receives, stores or transmits that record, is

A) A subscriber : B) An intermediary
C) A hacker ~ D) An addressee

-20-
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57. “euscuuemoe” agomoad

58.

59.

60.

61.

62.

I 80y &M1ysd, Hmiygd mlgye @eeg)Esld LmiLsd emgnldesieaiess 160N

BMSYMY.

Ii. 20} &mysd, HomiRgd milghoe GreREslal &:miysd emEeIbes afimiciwies eeiogdondd,
naml® @eg)Elad omoncl anotet® 0SB MIBGEUElEOLM,.

ifi. 80y HmYRsd, H-MI1Rsd Milaye @eL)eEld Bmiysd emgades agrlaiwes eansdendd,
wemto @eeg)ssidd onmdl atocwatdd ponlisamsinon eprealulnwe MsEmIOM}.

V. age@slego Hmiusd emgudedlod esqo.

A) oieglad alosTmaawelo B) Only i, ii and ii

C} Only iv D} Only ii and iii

@OePIO@AMOIEial a@® mldeguemdar) nElweomme ?

1. alloiestieotte melle00Ud@:0mo6Ns,

2. alluedUS:00se MI@ORIBRWIe HEBEUIFCHATMLe CNDIELRI6T.

3. allaesms® ege) olelewire alemldeso.

4. mleiallenss ogemslelo Mwaewlo &l 6oy awI0my @oemOIEles @DEM §.2 QoM &9
DI oMl (MR MO IMIMOR] nimwees aNlainesd allalrottouo i
OdeOa]Symigy.

A) 1 and 2 welwg B} 3 walwg

C) 3 and 4 wdwg ‘D) 4 wdlwg

“aflcuocuo0e tflwme 2008, muoaunomoe aslas:@an 6o} AUBBIwes aldda jQIE:00EEIeNR
MO | DIEIRED SHEMBSIHRISISOIM,”. (rIqRICIM

A) vl ' B) emg

C) wdlewd omego @og) D) myeelad aloemmo smymg)

2005-02 aflaeooisomn dloaeslen et 9 old:00o aibflos smaendemauad
&30adloud sl Gloymomensieasenzmians.
A) 30 diame “B) 40 dlouavo C) 50 dicuave D) 60 dlcumo

SDRIGERR0ENTlE (1UIBU N TVdGedlonmesd® MEeymeidd cudglasaawlou’ @remodigl culledeniam
Blsfledsid QU e@DOBHIOM MdFadisseaud (oM sggRnd @onve ol cgmosty
DoY) 6.21QIIMN@) ?

A} mdgesandllors amemocigt ¢ B) emim qudeecd

C) eecvend agadgdni aomigaloamdmi'sle D) moaxemad s@andaogle; smudd

o@OMELIEI0 (R IBD) 38 EIRIBERDENE HOBHHOBALIAOES 6NIMLOA]S BORODS (u jbrofles) eruang!
@D £08HHIBWU TLfid@lH6 eI MWoBAlENIEEWI BOEAINLGEWD 2B aROMmODY
Q13w @6,

A) ey udlenoand dB) &0} snsilalendnd

C) emy a00eed D) eny oflenavsnondd
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63.

64.

65.

66.

67.

68.

Any man who monitors the use of the internet by a woman commits the offence of
stalking unless he proves that

i. It was to prevent or detect crime and he was enirusted by the State to do it.
ii. It was pursued under any law.
iii. Inthe particular circumstances his conduct was reasonable and justified.
A) Only iis the correct option
B) Only i and ii are the correct options
C) Only ii and iii are the correct options
D) i, i and iii are the correct options

The punishment for identity theft is provided for under
A) Section 356 of the Indian Penal Code, 1860

B) Section 353 of the Indian Penal Code, 1860

C) Section 66C of the information Technology Act, 2000
D) Section 65 of the Information Technology Act, 2008

If there is a contravention of any provision of the Information Technology Act, the
power to confiscate any compact disk related thereto is provided for under

A} Section 97 of the Indian Penal Code, 1860

B) Section 79 of the Information Technology Act, 2000
C) Section 67 of the Information Technology Act, 2008
D) Section 76 of the Information Technology Act, 2000

Which of these is not a part of IMSI Number ?
A) MSN B) MCC C) MNC D) MLR

What is meant by IMEI Number 7
A) International Mobile Equipment Identity B) Internet Monitoring Enabling |dentifier
C) Initial Machine Edited Image D) Initial Mobile Equipment Image

Which of the following statements is/are true ?
i. IPv6 addresses are 128 bits long.
ii. IPv4 addresses are 64 bits long.
fii. IPv6 addresses are expressed using hexadecimal notation.
iv. 32 hexadecimal digits can completely identify an IPv4 address.
A) Only i and iii - B) Onlyiv - C) Onlyiii and iv D} Onlyiandiv

20
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63. &y flwyes nidemg Belewowo ildesenim agemOny a-ij0iaHMio @O 0TI
Ol L6001 olotto alamsEd ag)m Eio O0IGIM,.

I, )Ry 165B0S mS@MEEMD HeEnsEmMEemo @R} BRE, WG 621900 GRS
BOCGOOHED 21)ABEIOG]SIOT. '

ii. ogemElananony Mlewaemila eleoem o llomsoyoma.
il lolBm e Moao2i0)Rgld @egeomBlef Galdymogo MR,
A) | aowaosm tudlWoW &daiamd
*B) i and ii agyrrilol @o@06em (ealeow GOalatm et
C) ii and iii agyorilcu momaosm vEl@O® Eda iaHm e
D) i, ii and iii agyoric @o@@o6 LEAROW BOalatmiesUd

64. eogiuxgld) emooxsm@EBIMEs U8l (000 madallalonyomy.
A) emeadd 356 snomym wileuo allwas, 1860
B) e 353 soomydd wdlesto ailwao, 1860
¢ C) exmvemd 66C emandenaumd asamoges @odg, 2000
D) emesd 65 mandenanith aseemops @odwy, 2008

65. epcdendemait esaeMmoaE MwaEEoal age®m®sleljo QIIQIMOWIOS BIoCRINM 6N @,
@o@mmoQ] IOWeR|S afe®®slale Ghdoalddhy WY &EMEIeRIOMISS @nuileo0o
_ 0¥ 31 madsslai@leanyom;.

A) snomyd wleso meaasieel 97-00 U] 1860

B) 2000-ee m@acdemaud aseemope apglod aldia] 79
C) 2008-ee! gnBandenatd Oseemogs] @paglon Qldial 67
D) 2000-eal soibandencsd asasmogsd oo el 76

66. snoIflad agmosny” IMSI mmidled @magoema’ ?
A) MSN B} MCC C) MNC D) MLR

67. IMEI maud agmoem’ @pedmomdseyma ?
A} snadmoasiemad emoeee@ afydyeioad eagrudid)
B) sdemg eavemigdied agemegfled’ eagaulenmid
C) snrflauyad omadiod agruigay soemed
D) sooilauy®d emoeeenidd agydsyleioadd soemned

68. @oewe oW (IROCIMEEM agmoen @l ?
i. IPv6 alenaamd 128 eniguei olameacmosm.
i. IPv4 alenmsssd 64 snlgied dlanigamoen.
iii. IPV6 alleinmesd aengoanbalinmd amoegauMd Halewoullafosn loldSlalenyma;
iv. 32 enogoecming eesssdess sy IPv4 allenmo aydegpacayoe fldlgiclkeord axAwjo.

A) Only i and iii B) Onlyiv C) Only iii and iv D) Only i and iv
A 23
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69.

70.

71.

72.

73.

74.

-In internet, private addresses are never routed between carriers. The usage of private

addresses is specified in
A) RFC 1118 B) RFC 1436 C} RFC 1918 D) RFC 2131

The traditional method of protecting the device from ransomware attacks is no more
suitable for loT devices, because .
Select the most appropriate answer to fill in the blank from the choices given below :
A) Such attacks originate from the dark web and cannot be protected against

B} The datain loT devices are stored in a very scattered manner that traditional methods
cannot be used for protection '

C) The sensors used in 1oT devices themselves provide the best means of protection
D} H requires more computing and resources for protection

The three ‘grand issues’ about behavior addressed by psychology today are :
i. Stability versus change

ii. Nature versus nurture

iii. Rationality versus irrationality

iv. Cognitive versus biological _

A) i, ii, iv B) i, ii, ii C) i, ii, iv D) i, iii, iv

The three early schools suggested, respectively that psychology should study
the structure of consciousness, the functions of consciousness or observable
behavior

A) Structuralism, psychoanalysis and behaviorism
B) Structuralism, behaviorism and functionalism
C) Structuralism, functionalism and behaviorism

% D) Functionalism, behaviorism and psychoanalysis

The psychophysical methods are

A) The methods of limit, constant stimuli and the staircase method

B} The method of constant stimuli, staircase method and method of average efrror
C) Constant stimuli, method of limits and method of average error

D)} Method of adaptation, constant stimuli and method of limits

The point in the back of the retina through which the optic nerve exists the eye. This
exist point contains no rods or cones and is therefore insensitive to light

A} Fovea B) Pupil C) Visual cortex D) Blind spot
-24-
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@r@oﬁ’mmg’lm%, qul0ny QlleloasiBtd adlentilo @00 m@HeIselal ailaicloynlss).
0y QUIBIDIVABRINS Ha i3I0 ag)yMEIaE3 QL BmmIB6KUIAlBaIM).
A) RFC 1118 B) RFC 1436 C) RFC 1918 D} RFC 2131

OETROHUWD ED0eMsTBElE Ml ale:eemeaT® Mod:HleniMelmas albaledn® Gl
0T ©olonernemRtdas) BSIBI0d BRMIGIVIR YL HHO06MO

210168 MaSlRldkenm ealowinyeeldd rloT @mMmEOR RO HEYDE BCHOSETINSIOTITIFY® b,
A) awodes aoeniidd alomosm eHEmto @BIE-OEMETBUD HENBOE:LIE), BRAIRE ofloy momw:leanoddd

dniolle)

‘B) loT Balaememslor aog augen almdlesiseniom dalialanen moedlgfideanyomas,

MOORBHMEHIMOR 0 IdUBIN® Gl Balewouileand ewiaig)

C) loT sateeemensldd o 13oudlonyn erumaunid:d @am dleo) TUod:uem modpesid
MOdHLMY

D) snaflay #5300 dxmiyglomio Motesen@simoi alleqismmglio @t ynoeny

AMRORo ST @REIMEEENIOWM S.2IGIRM 6aI0YMIROEMERIlalias adamy el o kgemud
i. cudlom@ie @ogaie
i, eyl aldleatoatsmaiio
iii. wienlwpe @enlooadi®yio
V. aen12emonia:ie OOHRAIBIR 6010
A) i, i, iv B) i, ii,iii C) i, iii, iv D) ii, iii, iv
DY @O OB cggégg,aé;cﬁ BRI @L00@:R0 BEUOLETHOM RIS, GIX@TIOMH
dEmMETR®R ERagEiad midlesllencniim eal@imigo agymial aidlkeasmennTy aidegullal,.
A) ysenioellave, H6EHe @omoelriim; snlleeonladine
B) mesnioelito, snlieanallcloe , anesasemelove
C) tyesasoelmo, anesauemelmo, snllsaoaladine
D) aneiadsmellovo, enlleannlludime, eamessd aamoefavind

6610609 dlrlea@ dlelletd goaimoen

A) g, dlormenow 9ermRmo, HIRWdEsM dlel agiciwies dlele:d
B) audlomow peememesiecg Giil, axpudedsmn ddl, toeowd aivasslo dal
C) audlomow seEmEIMmo, aldulle:ains dafleio tardtedl allunalad dalkwie
D) ealomemeq|siema dwl, rfiermead® oeameamo, aldiulases dol

sni@moas] Bl dlleinfldenymm eoglnwes alldbeonemieg ealo@id. oo @rie
Brlo@fiaBkdl BOORLLBER0 BEDEMLLHEE0 ML), @HEIMIAY (AIBHIUIEATHOS TVOGNBMEHMANE.

A} @enonia B) a1yaitd

C) allaui@d co0dgey ‘D) eesppdas ecmog

5.



158/23 - M

75.

76.

77.

78,

79.

80.

- Laws of perceptual grouping are

A) Laws of similarity, proximity, clostre, simplicity, common region and relative size

B) Laws of proximity, good continuation, closure, simplicity, common region and shape
constancy

C) Laws of similarity, good continuation, proximity, closure, common region and simplicity

D) Laws of similarity, good continuation, proximity, closure, common region and
stereograms

Monocular cues to depth or distance inciude

A) Size cues, linear perspective, atmospheric perspective, ovetlap, height cues and
motion parallax

B) Linear perspective, atmospheric perspective, overlap, height cues, motion parailax
and convergence

C) Atmospheric perspective, overlap, height cues, motion parallax, convergence and
retinal disparity

D) Convergence, size cues, overlap, height cues, motion parallax and retinal disparity

Those who study PSI and other paranormal events or events outside our normal
experience or knowledge

&) Environmental psychologist: _ B) Cognitive psychologist

) Parapsychologist | D) Neuropsychologist

Mental categories for object, events or experiences that are similar to one another
in one or motre respects are

A) Reasoning B) Concepts C) Hindsight's D} Visual images

In Piaget's theory, the modification of existing knowledge structures (Schemes) as
a result of exposure, which is

Aj Assimilation : B} Accommodation

C) Egocentrism o D) Object permanence

According to Kohlberg the stages of moral development, in which individuals judge
morality in terms of abstract principles are

A) Preconventional, conventional and legalistic orientation .

B) Ethical consideration, preconvention and post conventional

C) Preconventional level, the conventional level and the post conventional level
D) Moral judgment, post conventional level and ethical principle orientation

-2G-
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84.

85.

86.

87.

88.

89.

90.

- One of my teachers next door to my aunt. {Fill in the blank with the
appropriate form of the verb given)

"A) lives - B) live C) living D) were living
| realized that we before. (Fill in the blank with the appropriate form of the verb
given}
A) meet B) met _ C) have met ‘D) had met
Against her parents’ wishes, she wants to be journalist. (Fill in the blank with
the appropriate form of the article)
A) an ‘B) a C) the D} no article

You like bread,
(Supply the correct form of the question tag given)

A) isn'tit? B) aren'tyou?  C) doyou? ‘D) don't you ?
| do not approve your action.

(Supply the correct preposition given)
‘A) to B) of C) on D) with
Identify the synonym of the word ‘Intrepid’ from the options given below.

A) plentiful B) lively C) brave D} unfair
Identity the meaning of the idiom ‘To take the reins’ from the options given below.

A) To assume command ‘B) To accept criticism
C) To humiliate D) To cooperate

RSVP is an abbreviation for ‘répondez s'il vous plait’. What does it mean ?
A) In the same place *B) Please reply
C) Note well D) Which is to be proved

identify the expression which is equivalent in meaning to the term ‘limnology’.
A) The study of human face B) The study of mountains
C) The study of colours ‘ D) The study of lakes

He takes after his mother rather than father.

In the sentence given above, the meaning of ‘takes after’ is
A) Represent B) Believe . C) Resemble D} Protect
-28-
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